Hour Exam #1 Last Name /G‘/\S' WRS—

Chemistry 343

Professor Gellman / _

7 October 2016 First Name <EL!:]__
General Instructions: U

(i) Use scratch paper at back of exam to work out answers; final answers must
be recorded at the proper place on the exam itself for credit. Models are

allowed.
(ii) Print your name on each page.

(iii) Please keep your paper covered and your eyes on your own work.
Misconduct will lead to failure in the course.

1. (6 points) For each side-by-side pair of structures, CIRCLE the one that more
correctly conveys the way electrons are distributed.
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3. (32 points) For each of the molecules drawn below, determine whether each of the
descriptive phrases (1-6) is applicable. Write as many of the indicated nhumerals as appropriate
on the line below each molecule. Numerals may be used more than once, or not at all.

1 = Contains at least one bond angle formed by three carbon atoms of approximately 109.5°.
2 = Contains at least one bond angle formed by three carbon atoms of approximately 120°.

3 = Contains at least one bond angle formed by three carbon atoms of approximately 180°
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4 = E configuration
5 = Z configuration

6 = Contains at least one H with pK, < 20.
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4. (20 points)

(a) The Newman diagram below indicates the three-dimensional structure when the molecule is viewed by looking
along one specific carbon-carbon bond. Complete a new drawing of the same molecule from a different perspective,
in which the specific carbon-carbon bond is viewed from the side (i.e., the perspective is rotated by 90°). That carbon-
carbon bond is already drawn, on the right side below; your job is to draw in the rest of the molecule. The new
drawing should show exactly the same conformation as is indicated by the Newman projection.
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(b) Provide two new drawings, one a Newman projection and the other a 'side-on' view, of the molecule
discussed above in part (a), but now showing the most stable conformation about the carbon-carbon bond that
CN}G\%

was focused on above. (If there is more than one "most stable™ conformation, just show one.)
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(c) In addition to the carbon-carbon bond focused upon in parts (a) and (b), there is one other carbon-carbon
bond for which different conformations are expected to have different energies. Draw a Newman projection that

shows the most stable conformation for this carbon-carbon bond.
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5. (15 points)

Name

(a) Shown are hydrogenation reactions for three alkenes, A, B and C, and the corresponding heats of hydrogenation.
Indicate the relative energies of the starting materials and the products on the energy diagram below. Specifically,
use short horizontal lines, with appropriate labels, to indicate the relative energies of these species. The relative
positions (up or down the page) of these lines shouid indicate which species are of relatively higher or lower energy.
Draw vertical lines, with clear labels, to indicate each of the heats of hydrogenation. (Do not include "curved" lines to

indicate the course of the reaction; in other words, do not indicate transition states.)
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(b) Below, indicate the order of decreasing stability among alkenes A-C, with the MOST STABLE on the LEFT. / owks 7,12“ f 5/{
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6. (20 points)

(a) Propose TWO possible structures for molecules with the formula CgH4, that do not undergo reaction when
exposed to H, in the presence of Pd/C.

Passillres inclele:

ible structures for molecules with the formula CgH4o that would be expected to react
with only one molar equivalent of H, in the presence of Pd/C. Both of the molecules you show below
should give the same product after they have reacted with one equiva " he presence of Pd/C.
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